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GENERAL INSTRUCTIONS FOR CANDIDATES

You are ixven a Test Booklet of 20 pages as well as an OMR (Optical Mark Recognition) Answer Sheet. The
Test Booklet contains 100 questions serially numbered from 1 to 100. Count the Fages of the Test Booklet
and be sure that they are in proper order. %Insure that Code and Serial Number of the Test Booklet and the

OMR Answer Sheet are same. In case of mismatch / defect / discrepancy in the Test Booklet, report the
matter to Invigilator and get the Test Booklet and OMR Answer Sheet replaced..

Answers are to be marked only in the OMR Answer Sheet as per the details given below.

(a) Candidates are required to indicate their answers at an appropriate place on the OMR Answer Sheet.
(b) Darken only one circle for each question as per instructions given on Side-I of the OMR Answer Sheet.
(c) For each question, there are four options marked A, B, C and D for marking answer, out of

which only one option is correct. The candidate is required to select the correct answer and darken the
corresponding circle of the chosen answer.

For example, if your answer for Question No. 37 is C, darken the circle C as given below.
Q.No. Response

3. | ®® @ ®

(d) Only Blue/Black Ballpoint Pen is to be used to write on the OMR Answer Sheet. Candidates should
bring their own Ballpoint Pen. Use of pencil is strictly prohibited.

The test will be of 2 hours 30 minutes duration from 11:15 am to 01:45 pm and will have 4 Sections with
only objective-type questions. Additional time of 15 minutes is allowed for reading the instructions 2
questions from 11:00 am to 11:15 am.

Additional time of 50 minutes will be allowed to "Divyang Students"
A single Test Booklet comprising all the 4 Sections will be given to each
in all for 100 marks as per details below. Separate directions are gj

(differently-abled students).

candidate. There are 100 questions
ven for each part.

Type of Test Section Number of Questions Marks
Hindi Section ~ | From 1 to 15 = 15 Questions 15
English Section - I | From 16 to 30 = 15 Questions 15
Mathematics Section ~ IIT | From 31 to 65 = 35 Questions 35
General Science Section - IV | From 66 to 100 = 35 Questions 35
Total 100 100
All questions are to be attempted. Ever

y question carries one mark each. There is no 1y ive markij
You have to qualify in each section separgtel - Hence, attempt all Sections without faiegatxve king,
Overwntmg, striking, cutting, a plying white/correction fluid and erasin
not allowed.

marked in the OMR Answer Sheet, Do not make any stray mark on the O

Rou ]%h work must not-be done on the OMR Answer g ¥ MR Ang

heet. For h
for Rough Work in this Test Booklet, rough work, use th
A bell will be runﬁ after every one hour, {
Do not leave the hall without handing over OMR Answer Sheet.

wer Sheet.

Any candidate found either giving or receiving assistance or yei e RGBS g
disgualiﬁed. Any attempt for impersonation will also 'd'iSQuali[‘tl; ltlﬁ%g;nga;nm ddmlzhgeale:gmn be

Such answers will not be evaluated. No change in the dﬁk%ﬂ‘\:ﬁe SR Answer Sheet is

circle is alloweq once
© space marked as SPace 0
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SECTION - 1I': ENGLISH

Directions : Answer questions no. 16 - 19 by
choosing the most appropriate options to
complete the paragraph by filling in the blanks :

The Dodo bird was last seen in 1660 A
which it was never to be seen. There are
different stories about the extinction of this
species. Some people say that the Dutch
sailors first _ 17 the Dodo bird and
mercilessly killed it to eat its meat _18

others say that the rats and other

animals 19 came on board the Dutch
ships spread themselves across the island
and ate up the Dodo eggs for food.
16. (A) soon after
(C) later (D) before
17. (A 9
‘_ ) see |JB) seen ]
{(C) saw (D) seeing
18. [(A) but] B and
(C) as (D) because
19. @ (B) when

(C) while

Read the sentence given below and choose
the option which correctly changes it mto
Passive Voice.

Can Anil lose his book ?
vA) Hubookmbehﬁbym

posite in meaning to

21. The word which is OP

(B‘) doubtful
[D) _gullible }

ar in meaning to the

(A) wary

/Lof incredible

29. Choose the word simil
underlined words.

At first they lopped off all the branches.

‘(A) cut l

(C) extended

Directions : (Questions no. 23 - - 25). Answer
these questions by choosing the most
appropriate options to fill in the blanks. N

23. On our way back home we stopped at the
mini mart to pick up fruit.

(A) alittle

(D) much

24. MUDJbal and Delhi m LA &;.
.-....Em |

(A) busier
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96. Give one word substitute for the following
expression :

‘One who cannot be defeated’

((A) Tnvincible _

(B) Undefeated

l(!f) Patient

(D) Determined

Directions : Select the alternative which best
expresses the following sentence in indirect

speech.

27. Surbhi said to Anu, “My mother is not
well so I won’t be able to come for the

dance practice today.”

(A) Surbhi told Anu that her mother

was not well and so she would not

be able to go for dance practice that

y

Surbhi told to Anu her mother was

day.

(B)
not well so she will not be able to
come for dance practice the next

day.

(C)  Surbhi says to Anu that her mother
- is not well so she will not be able to

go for dance practice that day,

is not well so she will not be able to

Surbhi said to Anu that my mother|

come for dance practice today.

(D) plateau

LEFB - G

Directions Read the following passage

carefully and answer Questions No. 28 - 30.

It was the height of summer and the
school Anil was to join had not yet opened.
Having as yet made no friends in Dehradun
in the foothills, he wandered about a good
deal by himself into the hills and forests that

stretched away on all sides of the town.

28. What was Anil doing in summer ?

(A) Studying

Wandering I

(C) Travelling
(D) Shopping

29. Anil had come to Dehradun to join a
(A) club
(B) job

l lé; school ‘

(D) college

30. Dehradun is situated near the

3 it : A
hills ’ .

(B): sivers

('C), sea
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@vus - 111 : wforg
SECTION - III : MATHEMATICS ‘
RIT: (597 & 31 D 65 7%) I ¥ % [0 SR AT I faey R 1 8, i @ deael 0 aw &
%7 S ST ST .08, I A W T AR | 55
Directions : (Questions no. 31 to 65) For each question, four posszb.le answer choices have _eetn
given, out of which only one is correct. Select the correct answer and indicate it at the AP
place in the OMR Answer Sheet.

31. 25450 % T w9 § o7 O W Y gar|{31. 25450 expressed in standard form is

2 (A) 2-545 x 10~4 2545 x 101 :
(A) 2545 x 10~4 ’u)/ 2545 x 101 (C) 25-45 x 102 (D) 2:545x10* | :
(©) 2545x102  [D) 2545 x 10% 32. In 15 days, the Earth picks up 1-2 x 108kg |
¢~ . In how man
82. 9eHfl, ST & 15 R & 1-2 x 108 Recim of dust from the atmf’Sph;’gg kn fo;v b T
g 33 R et 4.8X108%(—,ﬁ—5n-qg{(q days will it pick up 4-8 x g of dust ? ;
et & samwft 2 Lag 40 B) 50 |
A) 40 (B) 50 %) 109 |
(C) 60 (D) 100 : 33. The cube of a number x is nine times of x.
» . The value of x (where x # 0 and x #—3) is
33. T x T, WA x % AN % w0 D | i A
x (8T x # 0 QT x % — 3) 1 0 2 D) 2
(A) 8 B) 4
(D) 2 Vhe value of [(571 — g-1)-1 _ =4 N
1 T | s Ry L X is
34. [(51-61)y1_(3- - )] & AE R A) 12 T
(A) 12 (C) 24 D) 30
(C) 24 (D) 30

: 4 4 ; 35. A camp having 80 inmates, has food
35. wH Fu fomd 80 A A #, % w70 R w5

“ ; . sufficient for 70 days. How many inmates
GETE |10 & % 9 ey @Y 9 =) S| should leave after 10 days so that the

% 3 @ 80 o 3fk = I 2 remaining food lasts another 80 days ?
(A) 25 (B) 24 (A) 25 B) 24

P =] ®) 16 (D _16]

2 3 ' Py
36. a‘f:alxzé‘amyz-é%,?ﬁ(x+y)+(x——y) 36. Ifx=§andy=%,thenthevalueof ‘
%1 9HE &y

(X+y)+(x—y)is
15 15 | B
(A) — é A) S
2 ‘ s

(C) —
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87. 7% IR AT U 1 IThed 322 R | 33 &
T BIE T T IR |

(B) 84

L(lé))m 70

3y (x - 3y) % THEe §

38. 15%y (x — 3y) —
I BT 2
(A) 3y x-3y) x-1) .
W)ﬁ_ij - 3y) (6x - 17’
(C) y(x-3y) (5x-3)
(D) 3(x-3y)(5x-3)

39. (761)2-(23972 ="
(A) 552 (B) 55200
\gzi 522000 j (D) 5220

40. 3 THdl TN x % M F 27 TIsT & W,
wﬁwaﬂtsﬁs&qmmeomam% a
T x HAA B
K 20 B) 15
[ 10] D) 5

41. TR T W =FF (a + 2b - ¢)2 TR &
(A) a%+4b? +¢%—2ab-2bc—ac
(B) a2+ 4b? + ¢ + 4ab + 4be + 2ac
E) a2 + 4b? + ¢2 + 4ab — 4bc — j

U/{)) a” + 4b + ¢? + 4ab — 4bc - -4dac

2
-2l
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37. The sum of four consecutive multiples of 7
is 322. Find the smallest multiple
involved.

(A) 91 (B) 84

\p o

38. Factorising 15xy (x — 3y) - 3y (x - 3y)
gives
(A) 3y (x-3y) (x-1)
W 3y (x—3y) (5x-1)
(C) y(x-3y) (5x—3)
(D) 3 (x-3y) (6x-3)

39. (761)2-(239)2="?
(A) 552 (B) 55200
522000 (D) 5220

40. 27 when added to twice a number x, and

then increased by 13, gives us 60. The
value of x is ; i
(Bii5
5088
~expanded, the

When :
(a + 2b - ¢)? is equal to

g 5 2

(A) a®+4b? + ¢ — 2ab — 2bc — ~ac

(B) aZ + 4b2 + c2 + 4ah+4he-~t~ %

‘expression
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42. T g, fuh fmng 30 1, x 127 €, % wH

43.

45.

B gl WE T % Ry g . x 2 . el
I T Tt 0 sqravaear @ ?

(A) 30 [ 60 |

(C) 90 (D) 125

513 H T IeerR wd K e B 3
a AR B 2 4t & | R gy i wwrd

(8)
42,

43.

70 8t R, A A3 § urgy # urg b oA B

(B) 630n

(C) 280 n (D) 910 =

Hﬁ%mﬁga%mwm?ﬁaﬁ@m

Wﬁmm,a}mm,{aﬁgﬁwﬁu.
BT |

(A) Um-<tgrE

[Br 3

L©) LA Gl )

(D) =9[R

ﬁ%amaﬁaﬁﬁmaﬁﬁlﬁme@m 45.

2m3:a€r°wszﬁﬁ1:2w:ﬂavm%l3ﬁ
STETH T I &
(A) 1:3

B 1:6

(D) 1:36

i

How many carpets of dimensions
3 m x 2 m are required to cover the flooy

of a hall, whose dimensions are
30mx12m ?

(&) 30 [ e

(C) 90 (D) 125

A metallic cylindrical pipe has outer
radius of 3 em and an inner radius of
2 cm. If the length of the pipe is 70 cm,
then the volume of metal in the pipe, in
cm3, is

(B) 630~x

(C) 280 n (D) 910 =

If the base and height of a triangle are
both doubled, then the area will be

the original triangle.

(A) one-fourth

(B) double
(D) equal to

The radii of two cylindrical vessels are in

the ratio of 1 : 3 and their heights are in

the ratio of 1:9 The ratio of their
volumes is

(A) 1:3

‘(B’ﬁl:

D) 1:36

%= @ % AT WTE / SPACE FOR RouGH WORK

O Rl AR D & TR I REE. T RN Lo 1 R T

R R TSR T
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46. frafafga ofon densit & @, S9-d e
g AR 2

2 -5
(A s e
A7 (B) ]
¢ 4 3
) — D) =
9 = 2%

47. fefafEa i a s s a2 ?

(A) firm uftds ded et # g Ui T
# |

[(B) fom am ot 2t & ahir deamd @t

______ b J

Mfﬁﬁamaﬁwﬂmqﬁﬁaﬁ@r&@?ﬁ
£
KD) WWW&M%W%W
Bt | i3
=k
48, 21 8 e 2
. 64
(C) 3 (D) 29
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46. Out of the following rational numbers,

which is the smallest ?

2 -5
(A) 7 (B) o
: 4 3
v e (D) =

47. Which of the following statements is

true ?

(A) Fractions are rational numbers but

integers are not.

(B) Both fractions

rational numbers.

and integers are}

T

(C) Neither fractions nor integers are

rational numbers.

(D) Integers are rational numbers but

fractions are not.

2115 - 8w
48. Qﬂx 1 is equal to |
0 | B) 1 ]
(C) 3 (D) 64
49

@ %14 % fe1u W /| SPACE FOR ROUGH WORK
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49, et Fem (0 & A gewn o § | @ AW
@4@§mmﬁmm20m%la€

e @
(A) 3—4x=20
U 468-0=20

(C) 4(x~3)=20 }

D) x-3Bx4=20

50. Eﬁa@jﬁﬁ,ahaﬁuﬁﬂﬁmsa%aﬁ
S F TR F I R | 59 S H AW R

{A) 60° {B) 120°
(C) 90° ) 160°
51 Wemwhwm 2-8 &1 _x-2.4
4 2 y 3
=R
{A) - (B) P
8 3
1 3
) x== DY x=2
X 5 / D) x -

52. = =¥ ABCD #, 3 AB = 10 ¥,

CD =6 &%t 901 LA+2D = 180° 3, @

(10)
49.

50.

51.

52.

Three is subtracted from a m.lmber (x).
This difference when multiplied by 4,
gives the product as 20. The equation is

(A) 3—4x=20
\SB’)_ 4(3-x=20_
‘ ©) 4(X—3)=20’
(D) x-(8x4)=20

In a quadrilateral, the sum of three angles
is equal to twice the fourth angle. The

measure of the fourth angle is

[® 120°

(A) 60°
(©) 90° \pf 160°
The solution of the linear équation g
2x -3 2x -1 x—-2 .
2 2 £ is
4 2 T e
1 , y o
A = — B = \'\\
A) x 3 By x 3 '
i L
(@) x= 2 j (D) x= y

In a quadrilateral ABCD, if AB = 10 cm,
CD =6 cm and ZA+ ZD = 180° what

ABCD f&m SR H Tqua 8 ? type of quadrilateral is ABCD ?

() =i aﬁgi ! Parallelogram j
(B) ®u&E J,_ = | (B) Trapezium \ :
©) wEpE (C) Rhombus \

{D,) ol (D) Square

== %14 & foru 917g / SPACE FOR ROUGH WORK
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53. TS UIEl 3IVTAT T | 1 @ w<t favw "ey oy
&1 yrRrean 8

5
(A) S

W 3

2
e
© 3

1 1
@) <

54. TS ge-faae & 9n o I 15 faenfa & @
55@%&1% | Sfra ot faemeff < we ore® Bl
1 TTRehar 8

(A)

55. 300 safwdl & e |d § grn @ 6 30 =t
e @eid & | TH gu-fA (pie-chart) |, T
it &1 frsergve S0 fehaT 80T ?

(B) 367
o 10°

(A) 20°
(C) 30°

LEFB ~ G

53. A die is rolled. The probability of getting a
number greater than 1 and odd is

(A)

o/

(©)

Wi Ndl= oo

,\
=,
N

|

Out of 15 students participating in a
debate, 5 are girls. The probability that
the winner is a boy is

1
(A) 5

i
& 3
i(C)g a

3
(D) s

54.

A survéy of 300 people found that 30 of
them play cricket. In a pie chart, what
would be the sector angle of this group ?

(A) 20° | |.oiiges ]
XC) 30°

55.

@1 T4 & feru g /| SPACE FOR ROUGH WORK
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56.

59.

60.

Q= e e 16 a2 5 36 A2 R, W
W @ WS A oy WA B | 5w
STHid 1 afteg 3

(12)
56.

E

Two squares of area 16 em? and 36 cm?
are placed adjacent to each other to form g
new shape. The perimeter of this shape is

QGQﬁWGﬁ@m%v&mﬁ@r@‘@f

1 59 WY ?
(®) 20]

(D) 44

U1g F 99 3w R et 6 39, 8 I
a1 10 &t E, # Ruam s w7 a9mn Ty
B 19U A By ) o 2

(A) 15 &t q!) 143
(C) 13 & r(D ) 12 o !

IE B A A Few Rl 9 aur 10 F T
mﬁﬁsﬁmmmm@aﬁé@
ura ®, 8 Sagsages -t

@/ 1 (B) 15
© 5 (@ 12]

{\/@4)2 ; (7)2]3 e

(A) 25 BY 625

57.

58.

59.

60.

=]

’(9‘{1

What must be added to 269 to make the
result a perfect square ?

187 13 ) ;20]

(C) 55 (D) 44

Three metallic solid cubes of sides 6 cm,
8 cm and 10 cm are melted to form a
single cube. The length of the edge of the

new cube is -
(A 36 e @/ 14 cm

(C) 13 em ' (D) 12cm ,

The smallest number that should be
added to or subtracted from the sum of

squares of 9 and 10 to make it a perfect
square is

B) 15

Jeo? L@z ; ~
VE2DT +(D* | is equal to

B 625

) 5

A) 25

I-(c‘) 15625 ]

\
| © 15625 1

D) 125

% @ % foro sTE / SPACE FOR ROUGH WORK




(13 ) LEFB - G
61. 3Ife 5 =ufep v wE 1 28 feai ® 90 % Hepq |61. If 5 men can do a piece of work in 28 days,
E st wd ot 7 RAT A WA % foru then the number of persons required to do

sIavEE Sqfedl € T 2 the same work in 7 days is
(A) 15 (B) 30 (A) 15 (B) 30

¢/ 20 | (D) 35 NP 20 | (D) 36
‘ \th
62. #74 T I Fa fera faspa god * (i)a 62. Manu buys a pressure cooker at (%J of
10
9T % Yod W Gliear 2 3R fha foska gowr its marked selling price and sells it at 8%

8% 31ftres 9T S=9a1 8 | 39 fohaw fdva &1 @y more than its marked selling price. What

B ? is her gain percent ?

(A) 10% '® 20% (A) 10% [B) 20%]

(C) 30% g 40% (C) 30% )Y 40%

: ' |68. Samir purchased a pair of shoes for

63. Wi 3 T : TSl T 1,344 F Wy e > 1,344 including GST. If the sale price of

GST *f g | 3k Gﬁﬁ w1 faska Hed the shoes is T 1,200, then the rate of GST

71,2002, 9 GSTH & 8 i

A 5 on :
(A) 10;% (B) 18% (A) log% (B) 18%

© 6% |25 | © 6% @ 12%
v

64. TF Ve FHI SHEEA UEA 10% s W T |gq  pe population of a city first increased by

20% A FE | SHEE § FA FH g3 10% and then decreased by 20%. The net
w 15% (B) 20% “dﬁer'ease in the population is
)

D) 8% ) 15% (B) 20%
> 8

65. wﬁ%&ﬁé@rﬁzo%aﬁqﬁgﬁaﬁﬁ%ﬁ% 3 o R
2 ! ; a number is increased by o an
fix gam 20% *1 Ff F It 2, A T S then decreased by 20%, the. net

qt‘a/mﬁ % B : increase/decrease percentage will be
(A) 15 9fgda 78 4% 9f¢ (A) No change \tg 4% increase
(C) 4% E‘E’ (D) 9% s+t \(©) 4% decrease) (D) 9% decrease

%=1 %74 % foru s / SPACE FOR ROUGH WORK
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@uE - IV : g fasm

ﬁgv’ ’ ’ /

E I GTH FGH 3. 07, 3N, ITH-TAHT T IGYH T R 007 8 /

Directions : (Questions no. 66 to 100) For each question, four possible an

swer choices have-been

indi ' ¢ appropriate
given, out of which only one is correct. Select the correct answer and indicate it at the approp

place in the OMR Answer Sheet.
66. Wgal w1 a® U fygd AU IE IR
vaeh *fid (ared) & giafda e o1 g g,

HEaTl 8
(A) 7= (B) Wil
67. Fr=fafga § & s Shawm $u7 757 2 2
W @ (B) W
[(C) ==d } (D) e
68. W = F T fopar e 2 |

(A) FIel, 99 9 af

[(B) #r=amd]
(C) ufwfer

(\93 EIECi

58 el (F1R) F adq B o= Ty 9%
T Ay # @ e we d, e 3 gaw
W UF Eedl B WA I A R | 39 70 W H
w2rd v Ty g & frgd g §

(A) R HiFwEEE 3 FR Febe

B), #w sz s #w agiwe)

D) = ErggiaETEE N HN wede

70. 539 § wad 0w vgvm @ 9 e
(A) =y W s
©) g (D) e
71 ggv;ﬂ#ﬁdit 2 mﬁn@ﬁvﬁaﬁaﬁ
LB

(A) T 7@ 7 3 g
(B) % o & fw oy
[(C) FEgmasmmy |

66. The property of metals by which they can

be beaten into thin sheets is called

(A) Ductility (B) Brittleness
E_C) Malleabi]m Conductivity
67. Which amongst the following is not a

fogsil fuel ? :
) Coke (B) Petrol
(C) Wood (D) Diesel

68. Rayon is obtained from
(A) Coal, water and oil

[ .

[B) Wood-pulp |

(C) Acrylic
\(y) Animals

69. When a copper vessel is exposed to moist
air for a long time, it acquires a dull green
coating on its surface. The material of this
green coating is a mixture of
(A) copper oxide and copper- sulphate

(B) copper carbonate and copper
hydroxide ij
\I&) copper oxide and copper carbonate

(D) copper hydro;cide and copper sulphate
70. The most abur;dan_-t non-metal fou i
the Earth’s crust is e S
(A) Carbon
(€) Nitrogen

71, Dead plants slowly get converted to coal
under i

(A) lo’w Pressure and high temperature
(B) h;gh pressure and low temPerature
high pressure and high temperature

W) f e A e

()

low pressure and Jow temperature
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72. % g fevaw whsm o @ oo

A) FdEiE wifim
(B) ugaE I
o e
(D) U« wi@
73. ®-H T 7y fovgy =ers R 2
(A) afen Qp/ s
U I
74. TF=foied gesfel 4 & $9h-a s §

& wm] @ i

(C) TaTgTIIEq (D) &hmm

75. ﬁn%ﬁaaﬁﬁﬁq-mﬁ@ﬁg&mmm
27
(@ )
@ wsiw
(C) HHA HT FhIH
(D) waré

76. fTr=fafea § 8 #9-01 998 @i% saa w12 2 |
(&) wum, =, W
(B) =1, "aen1, gY@l

I i

LEFB - G

72. The process of fermentation was
discovered by
(A) Alexander Fleming
(B) Edward Jenner
(@ Louis Pasteur )
(D) Robert Koch
73, Which one is a non-metal which coniducts
electricity ?
(A) Copper (ﬁ)/ Bromine
[C) Graphite ] @) Mercury
v74. Which one of the following
micro-organisms is a profozoa ?
(A) Amoeba ] Aspergillus
(C) Spirogyra (D) Penicillium

75. Which one of the following . does rwt add
nutrient to the soil ?

(A) Field fallow J

@)f Manures/Ferﬁﬂh&s - k.«
(C) Crop rotation
(D) Ploughing
76. Whlchonaufthefcﬂlwmgitamg
Wmm? Pﬁjhip '\"ff '
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78. Afl W w1 T 5 qomd, 1996 N g K A
vESt & woft off Ry

(A) 93 =" ¥ mream @ Y1 fear T
B) =i e & aream & g1 o mo
(C) wm=1 fFv=m % mreaw @ ey fopan

@Bﬁww(wﬁﬁn)%mﬁ%m
=L ——

79. ﬁw%%aﬁéﬁ?ﬁa@ﬁﬂmaﬁrm
AR 2

(A e, woel ok 5@

(B) As, At 3k

[© mmwﬁm@@
(D) i, 7oeht 3R i (wewfew)
Ty &

A S
(B) W 1€ W IR fsgay
(C) @dg ! THdd M

) WWMWW@
81. fr=fafga § & #ar frem wd 2
A) tgefm - ofg =
(y{ sgfeH - ©ff g
(C) TwesH mgﬁﬁmmmﬁq
\_D) SRR — gw\_/
HH-A1 UF T g 8 2
(A) ferRAga s«

1;3{ REEIRE !
(C) =99 5/

(D) TEE g
HH-H Th 39 H 31 757 2 2
(A) Nm™2

80. % G 9@ T § |

82.

o

83.
(B) urerar

as born op
78. Dolly, the sheep, W
5tg }uly 1996 and was the first mammal

to be . .y &
(A) produced through in vitro fertilization

(B) produced

through internal
fertilization

I (C) produced through external

fertilization

k(;@ produced through cloni@

79. External fertilization is very common in
\(/A’§ frogs, fish and rats
(B) toads, fish and cats
KC) toads, frogs and starfish |
(D) hens, fish and starfish

80. Fri

tion is increased by
) Lubrication
(B) Powder sprinkled on carrom board
(C) Smoothening the surface
‘(D) Treading of tyres ]

81. Which one of the following is correctly

matched ?
(A) Adrenaline —
) Insulin o

(C) Estrogen -
hormone

‘D) Testosterone — Male hormone i

Which one is a contact force ?

\A) Electrostatic force

Growth hormone
Female hormone

Stress reliever

82.

(B) Magnetic force
HC) Frictional force ’]

(D) Gravitational force

83. Which one is not a umt of presSure ?

(A) N m‘ﬁ (B) pascal

& Nt )

_ \}75 dyneem“lzf‘r \

DR TR

A T (S SR T Rty PR o B S LS G
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84. I &0 Fafeifaa Su=i & w9 won =t
TE N, A forues ga 4 & ifiead sy yreg
gt 2

A) R
|(B) zfa Wifeem ¥4 (LPG))
(C) ¥ —)

‘y{ gdfifsa srfas 8 (CNG)

85. WWW%WR@ﬁww
2 wefeh S TRy ' e
JeH F ¢ |
{Ea@m,mmﬁr-maw&gw})

(B) I WV 9 FAE9fd-SITa
Y =

(D) I FAHId-IT

ST F frm 3 B Sl w1 Afe-vya
F5d & ?

(A) wrEEE . L
H(E) IEEFETEFT?

(C) TzaEM™

(D) =hifsrenT fufa

87. frfofea # & F-a1 $u7 wquvLafa aredi %
foe 2 2

(A) g

(B), St

Mﬁsﬁm%ﬁ

| D aﬁ%amw)

fraferfiga 4 & ®F-a1 v wrgy Fifderei § @
IR ST R U g Rt # g
e

[df wrfir fiafer |

(B) wiftr frgt

(C) wIfrhIZed

86.

88.

(D) *=H

ok | 84.

85.

86.

87.

88.

LEFB - G

If we completely burn the same amount of
the following fuels, the maximum amount
of heat will be obtained on burning

(A) Petrol

(B) Liquefied Petroleum Gas (LPG) l

(C) Diesel
(ti?/ Compressed Natural Gas (CNG)

National parks protect whole sets of
ecosystems while wild-life sanctuaries

provide protection to

(A) Fauna, flora and landsc?_'
(B) Wild fauna and flora

\(y Wild animals

(D) Wild flora

=

Which component of the cell is called the
powerhouse of the cell ?

(A) Lysosome

" Mitochondria |
(C) Ribosome
(D) Cell wall

Which of the following is a non-polluting
fuel for vehicles ?

(A) Petrol

(B) Diesel

9‘ Kerosene ¢
(D) Compressed Natural Gas (CNG)‘)

Which one of the followmg is found in
plant cells but not found m the animal
cells ? '

W Cell wall 7.

(B) Cell membrane '
(C) Cytoplasm
(D) Nucleus
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89. f=feifga § @ fradh wifts & wRwmor =t e
ﬁmﬁwm\%mm%?

(A) afEa
Ug)am
 (C) gamh

Lo o= ]

90. frfifea & & m oy weve W sk
SV % 1l 28T ¥ I BT B ok BRR
SIS TEH ST ) T 2T & 2

(A) ga1

B) e WiHreTe
%) T STFATHTES
(D) TEgeH IfTaTse

91. ®WR WK Wed % ¥
AN gl = § 2
) 39 3R Tz

(C) =t 3k P
(D) I 3R Jezzgg

A TR W A ufRm

92. Fefafes At 4 @ H.d

foram & 2

Aé? CO (g)
|(D) S0, (g), NO, (g)

93. T 8 20 % 53 wu 3w 4wt viser 31 wm
TR T 1 7e 55y 3

VR CUR LI e
(B) 9, g4, geht
| © ﬂ%@

SLSHCL R T
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89.

90.

91.

92.

f which on€ of the .following is
The powzr fn i of magnitude op a
expresse

i cale ?
scale called the Richter S

(A) Lightning

) Cyclone

(C) Tsunami
[D) Earthquake Ji

i ir pollutants

i f the following air po :
thliilze(;lnzlfe to incomplete combustion of
g:(t)rol and diesel reduces the oxygen

carrying capacity of blood ?
(A) Smoke

@Carbon monoxidq

\€) Carbon dioxide
(D) Nitrogen oxide

Which two planets of our solar system
rotate from east to west ?

W Mercury and Neptune
l(B) Venus and Uranus ’
(C) Mars and Uranus

(D) Venus and Neptune

Which of the following gases are
responsible for acig rain ?
(A) 02 (g)
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94, _  Fguvfifs sd 8 |
W fafia wrada
(B) Afafia qed=

(©) forafE queda

[(D) S&H
95. w@f i Frafafga foovaren 3 ¥ s s
F o W iR et R 2

(A) =T (B) dRe™

\(©) e mm7 \ga{gur
96. frfafgn & ¥ frml fagd oW v
T B R 2
hA) wseiEeiies st 1 faee
(B) dfd i R
) 3 HifeaH FAES
(D) ToereT 33T WifSTH TS

farea gm0 3Sea o TRt @

(A) I S IHE

(B) ad TE™MS IHE

(C), aet Frrehid JWTE
Mwﬂa TR I T T |

98. @mqaﬁﬁzomaﬁqélmm
ﬁaﬁﬁg%ﬁmq@ﬁ%mmm

97.

o 2
(A) 60ad (B) 207 |
() 6%3& 15§

99. af smfia foFwr 3 wrafda fobwr & g wo
120° 8, 1 ST B0 71 8 ?

\# 60° B) 90°
|(C) 30° (D) 45°

lmm“@ﬁw@“@“ﬁmmm
(i) s fsn B @ E

94.

95.

-~ (A) Speed
1(C) ‘Loudness ’

97.

98.

99.

LEFB - G

Images are formed by

Regular reflection - %orn—
(B) Irregular reflection

(C) Diffused reflection

@ Reﬂectionj

Which of the following characteristics of
sound depends on amplitude of vibration ?
' (B) Pitch

\(y Quality

Through which of the following does
electric current not flow ?
(A) Solution of hydrochloric acid
(B) Copper wire
Solid sodium chloride ]
(D) Molten sodium chloride

An electric current can produce
(A) heating effect only
(B) chemical effect only
(C) magnetic effect only ‘
heating, chemical and magnetlv)
_effects ‘

A star is 20 light years from the Earth.
How much time does it take for the light
from the star to reach the Earth ?

(A) 60 years ) 20 yeaxs—il

W 15 years

If the angle between mc1dent ray and

reflected ray is 120°, what is the angle of
incidence ?

4
t

(C) 6E years
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